Name:

——— e

— d et

Date: 25 Aug 2004 - Parents Signature;

A8\t
READY 77 §E

—— -

e N - L - N
rlOb‘{tﬂ Schiod

Second Continual Asses

Mathematic

Primary J

S

>

N
Total -] 7 00
}

Reqgister No. ..

ment 2004

“

N e e ¢t e T e
:.)\‘!ll'i-ll-zon! «Ll"} Lo r-\‘“(ri

instructions {0 Pupils:

1. Do not epen this bookiet untl you are told te do so.
2. Follow all instructions carefurly.

3. This paper consists of 3 paits, Sections 4, B and C.

( L Maximum | Warks Obtained |
Section A } 10 ‘
Section B 28
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Section A (10 marks )

For Questions 1 {0 5, ¢ options are given, One of;‘h::mir 18 the o
Wiite your choice (1, &, 3 or 4 ) in (e Drackets panisdag {5 2‘

VWhich vne of the foliowing is the same as

()00 (2) $1.00
(3) $10.00 (4) $100.C0

Express 5m & cm in cenumaties.

(1) 56 cm (2} 306«
(3) 560 cim {4y & 006 o

(H1ky=20g+ 10y
{(ZY2KRg20@=2020¢
{(39BOg=3kyBg+ 80y

{(4y4 080 g=4kg 500 ¢

000 cants?
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wih How m:,u:h chiange did shs receiva 7

M, omore water Hm tho glass
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12) 2750 mf

4y 2280 i . )
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riress for $5R .60 and 2 blouses for 317 each, Bhe
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Section B ( 28.marks )

For Questions 6 to 13, wiile your answers i the box orovided. Give youy
answerin the umnt sta d {74 x2marks )

5. Justin had & fwo-dohar nole. He wanwed W exchanges for twente-cant

coins. How many such comg woeuid ha get from the exchange ?
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Arancge the oliowing distanass it dascending order.
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8. A glass can hokd 125 m! of e, Alter pauring 2 giasses of juice from &
botile, the bottle is empiy. Find the capactiy of the botiis,

\
i
{
!
f

o



- 7
| {
! a
[ o

. S |

10. ally with hey two hrothers. How mixch didd esch
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T The length ot @ sword iz twive the lengih of a'dagger. it the swortd s
50 am iong, Dnd e total length of 4 such daggers.
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cup teapol _  baakar

The beaker s fillsg with f teapot of watar and 1 cup ot water, Whatis tne

[

capacity of the teapot ? “'“
| |
! £ ’
i %
13, A shivpkeeper packed 825z of flour equally into 3 packels, Fing iha

mass of each packet of flour. \ e,
\ ,_
iﬁ_t 3

14 Wir Lee sams 538 500 per month, Me spands §2 800 each monin How

2

much will he save in 4 meaths 2
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Aty walks frop home o school, Howaver, onivionday, he

AQHED s

needad i borow =are books from the Tbrary pafor going to schoeol

Haw mueh farier dic Aman walk comparad o his normal roule ?

¥t -,
) 0

out as vueh as ¥ pens. If each Ailg costs $1.50, whatis the total

TA 2 flas oo =
poel of 41 fle and 1 pen 7
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Ahind e
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19.

9 382 km
B . . o

<
2
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The distarre tetween A and Tz 9 382 km anc betwaer A and B s

erisRBilcCihan Bw A?

n
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Section € { 12 matks )

For Questiors 20 to 23, show vour worlkings sleariv in tha space belowy
each quastion and writs the answers in ihe bianks provided. The msk for

2ach question is given in the brackels.

n

20.  Ruth nd Sue’s total mass (s 108 kg. i Ruth is 18 kg hohier than

o

Sue, what is the mass of Sua ¥ (3 mar

ANgwior
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much meney as Kelih, i ey had $90, n

altoget
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war 702 marks )

1

16
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20 thnce as mueh morsy as Jerry, Tim had twice as

ow much did they have
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22, Mrs Sim cut a piece of ribborn inte 14 piecas. & ot the pieces ace ealh
2 cm fong and the rest are each 5 am long, YWhatwas ing jergth of the

ribbon at first™? { & marks )

A N WIS oy .
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1) R

2y 2

3) 2

L) 2

3) 1

6) 10

7Y 40D80m, 1800m, 1004m,
8) 375

o) 1800

10) 104

100

13) 175
14) 2600
15) 1 km 370 m
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